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2P 4+ 1 =2(510510n + 170021) + 1 = 10210201 + 340042 + 1 = 10210201 + 340043

0000010210200 20 2003,5,7,11,13,17000000 10000000

340043 = 11 x 19 x 1627 x 1

oooo
2P + 1 =11(92820n + 30913)

oobooooobolnoooobooooobobooobooboobUoobooooobOoobOoo
good

Q=1700290000
P = 510510n + 170029

2P 4+ 1 =2(510510n + 170029) + 1 = 1021020n + 340058 + 1 = 10210207 + 340059

289



0000010210200 20 2003,5,7,11,13,17000000 10000000
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good
2P + 1 = 3(340340n + 113353)
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Q=1700330000
P = 510510n + 170033

2P + 1 = 2(510510n + 170033) 4+ 1 = 10210201 4 340066 + 1 = 10210201 + 340067
0000010210200 20 2003,5,7,11,13,17000000 10000000

340067 =7 x 13 x 37 x 101 x 1

oooo
2P + 1 =91(11220n + 3737)

goodoOooOo9lboobooO0oOoUobO0bOOobOoUOobOUOobOOoDOobDOoOoDOobDOobDoObOboOobO
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Q=1700390000
P = 510510n + 170039

2P + 1 = 2(510510n + 170039) + 1 = 10210201 + 340078 + 1 = 10210201 + 340079
0000010210200 20 2003,5,7,11,13,17000000 1000000

340079 = 340079 x 1
Ooooo 10210200 0000000000000
2P +1 = 510510m + 340079

gooboobooobooboboobboobboobuooobooo

Q=1700410000
P = 510510n + 170041

2P + 1 =2(510510n + 170041) + 1 = 1021020n + 340082 + 1 = 10210207 + 340083

0000010210200 20 2003,5,7,11,13,17000000 10000000

340083 =3 x 3 x 29 x 1303 x 1

oooo
2P + 1 = 3(340340n + 113361)
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Q=1700470000
P = 510510n + 170047

2P 4+ 1 =2(510510n + 170047) + 1 = 10210201 + 340094 + 1 = 1021020n + 340095

0000010210200 20 2003,5,7,11,13,17000000 10000000

340095 =3 x5 x 7Tx41 x 79 x1

oooo
2P 4+ 1 =105(9724n + 3239)
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Q=1700570000
P = 510510n + 170057

2P 4+ 1 =2(510510n + 170057) + 1 = 1021020n + 340114 + 1 = 1021020n + 340115

0000010210200 20 2003,5,7,11,13,17000000 10000000

340115 =5 x 68023 x 1

oooo
2P + 1 = 5(204204n + 68023)
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P = 510510n + 170059

2P + 1 = 2(510510n + 170059) 4+ 1 = 10210201 + 340118 + 1 = 10210201 + 340119
0000010210200 20 2003,5,7,11,13,17000000 10000000

340119 =3 x 3 x3x3x13x17x19x1

ogooo
2P + 1 = 663(1540n + 513)
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Q=1700630000
P = 510510n + 170063
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2P + 1 =2(510510n + 170063) + 1 = 1021020n + 340126 + 1 = 1021020n + 340127

0000010210200 20 2003,5,7,11,13,17000000 1000000

340127 = 340127 x 1
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2P 4+ 1 = 510510m + 340127

gboboobogobogoboboobboobooobooooboon

Q=170069 0000
P = 510510n + 170069

2P + 1 = 2(510510n + 170069) 4 1 = 10210201 + 340138 + 1 = 10210201 + 340139
0000010210200 20 2003,5,7,11,13,17000000 1000000

340139 =47 x 7237 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 340139
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Q=1700770000
P = 510510n + 170077

2P 4+ 1 =2(510510n + 170077) + 1 = 10210201 + 340154 + 1 = 1021020n + 340155
oboo00o0o10210200 20 2003,5,7,11,13,17000000 10000000

340155 =3 x 3 x 5 x 7559 x 1

oooOo
2P + 1 = 15(68068n + 22677)
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Q=170081 0000
P = 510510n + 170081

2P 4+ 1 =2(510510n + 170081) + 1 = 1021020n + 340162 + 1 = 10210201 + 340163

0000010210200 20 2003,5,7,11,13,17000000 1000000

340163 = 31 x 10973 x 1
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2P 4+ 1 =510510m + 340163

gbobooobogobooboboobboobboooboooboon

Q=1700830000
P = 510510n + 170083

2P + 1 = 2(510510n + 170083) + 1 = 10210201 4 340166 + 1 = 10210200 + 340167
0000010210200 20 2003,5,7,11,13,17000000 10000000

340167 =3 x 149 x 761 x 1

oooo
2P + 1 = 3(340340n + 113389)

gooooooOo3oobooooooobo0ooU0bOoUbDOoUobOoUobDbOUDbDOoUobDboUODoO
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Q=1700870000
P = 5105101 + 170087

2P + 1 = 2(510510n + 170087) 4+ 1 = 10210201 + 340174 + 1 = 10210201 + 340175
0000010210200 20 2003,5,7,11,13,17000000 10000000

340175 =5 x5 x 11 x 1237 x 1

oooo
2P + 1 = 55(18564n + 6185)

O00o0o0oogosooobboobooobboobobooo0boobooboboooobOoobOoo
good

Q=170089 0000
P = 510510n + 170089

2P + 1 =2(510510n + 170089) + 1 = 1021020n + 340178 + 1 = 1021020n + 340179

0000010210200 20 2003,5,7,11,13,17000000 10000000

340179 =3 x 7 x 97 x 167 x 1

oooo
2P + 1 = 21(48620n + 16199)
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Q=170099 0000
P = 510510n + 170099

2P + 1 = 2(510510n + 170099) 4 1 = 10210201 + 340198 + 1 = 10210201 + 340199
0000010210200 20 2003,5,7,11,13,17000000 1000000

340199 =29 x 11731 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 340199

gbooboobogobooboboobboobooobuooooboon

Q=170101 0000
P = 510510n + 170101

2P + 1 =2(510510n + 170101) + 1 = 1021020n + 340202 + 1 = 1021020n + 340203

0000010210200 20 2003,5,7,11,13,17000000 10000000

340203 = 3 x 151 x 751 x 1

oooo
2P + 1 = 3(340340n + 113401)

gooooooo3soooooooooboooooboobooDbOoobboObDoobboUOoDboO
goo

Q=1701110000
P =510510n + 170111

2P + 1 =2(510510n + 170111) 4+ 1 = 10210201 + 340222 + 1 = 10210201 + 340223

0000010210200 20 2003,5,7,11,13,17000000 10000000

340223 = 13 x 26171 x 1

0ooo
2P + 1 = 13(78540n + 26171)

obooboooboy3oooooboooooboboooboooboobUoobooooobOoobOoo
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Q=1701130000
P =510510n + 170113

2P 4+ 1 =2(510510n + 170113) + 1 = 10210201 + 340226 + 1 = 1021020n + 340227
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340227 =3 x 3 x 3 x 12601 x 1

oooo
2P + 1 = 3(340340n + 113409)
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ooo

Q=1701170000
P =510510n + 170117

2P 4+ 1 = 2(510510n + 170117) + 1 = 10210200 + 340234 + 1 = 1021020n + 340235
0000010210200 20 2003,5,7,11,13,17000000 10000000

340235 =5 x 7x 9721 x 1

oooo
2P + 1 = 35(29172n + 9721)
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Q=1701230000
P = 5105100 + 170123

2P + 1 = 2(510510n + 170123) 4+ 1 = 10210201 4 340246 + 1 = 10210201 + 340247
0000010210200 20 2003,5,7,11,13,17000000 1000000
340247 = 89 x 3823 x 1
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2P + 1 = 510510m + 340247
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P =510510n + 170129

2P + 1 =2(510510n + 170129) 4+ 1 = 1021020n + 340258 + 1 = 1021020n + 340259
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340259 =41 x 43 x 193 x 1
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2P 4+ 1 = 510510m + 340259
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Q=170141 0000
P = 510510n + 170141

2P + 1 = 2(510510n + 170141) 4+ 1 = 10210201 + 340282 + 1 = 10210201 + 340283
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340283 = 340283 x 1
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2P 4+ 1 = 510510m + 340283
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Q=1701430000
P =510510n + 170143

2P + 1 =2(510510n + 170143) + 1 = 10210201 + 340286 + 1 = 1021020n + 340287

0000010210200 20 2003,5,7,11,13,17000000 10000000

340287 = 3 x 31 x 3659 x 1

oooo
2P + 1 = 3(340340n + 113429)
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goo

Q=1701470000
P = 510510n + 170147

2P + 1 =2(510510n + 170147) + 1 = 1021020n + 340294 + 1 = 1021020n + 340295

0000010210200 20 2003,5,7,11,13,17000000 10000000

340295 =5 x 68059 x 1

oooo
2P + 1 = 5(204204n + 68059)

gboobobooosOobobobooboboobobooboobobOobobDobDOob0bOobOobOobooo
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Q=1701610000
P =510510n + 170161

2P + 1 =2(510510n + 170161) + 1 = 1021020n + 340322 + 1 = 1021020n + 340323
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340323 = 3 x 17 X 6673 x 1

oooo
2P + 1 = 51(20020n + 6673)

o0oobooooslboooboboobooobboooboooboobooboboooobOoobOoo
googd

Q=1701670000
P = 510510n + 170167

2P + 1 =2(510510n 4+ 170167) + 1 = 1021020n + 340334 + 1 = 1021020n + 340335
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oooo
2P + 1 = 15(68068n + 22689)
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good
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